. SEAT Ne.
< - " SARDAR PATEL UNIVERSITY
~ E sH A3 ;J MA IV" Semester (CBCS) Examination
£+ Thursday, October 25, 2018
02:00 pm - 05:00 pm
PAOM4CECO03 — QUANTITATIVE ECONOMICS

No, of printed pages 02

Note: Figures to the right indicate maximum marks of the question. TOTAL MARKS: 70
At srugll sy eatdal vis Wadel Hedi 9o eald 8, SRR 70

Q-1 (A) With the help of differentiation prove that, “when the slope of MR curve is negative and MR = AR
then AR will be the maximum”.

[Aseiet-{l ueeel lGid 5305, “ordiR MR dsell 2l 88 14 244 MR = AR &4 4 AR Hdy 2",

(B) If the revenue function of a firm is R = 14x + x> and the cost function is C = x(x* — 2) then find out
the maximum profit and level of produchon at the lowest marginal cost.

ol 2Uha s (8% R = 14x +x 2t v [AY € = x(x? - 2) ¢t dl Mea 451 21 2Atay, dtia vl
Gelerds] R 2L,
OR (¥A4)

Q-1 (i) With the help of differentiation, explain the relationship between AR, MR and Ej.
[Asctl Heeddl AR , MR 21 Eg 23l 2ol uuendl,

(i) Narrate the usages of differentiation in economic analysis.
w1[As [Ascdnpi [Qsaql Guetioll 4ddl,

(iii) Using the total differentiation, find out the maximum and minimum values of a function -
Z=8X +2XY —3X° + Y° 1
< = - ~ ™ 2 —~ T
wd Esantl Guiiol s394 Bd Z= 8% + 2XY = 3X° + Y2+ 1 AL gt 2 Addy, Yeil Al

Q-2 (A) Compare the Product Moment method and Rank method for calculating coefficient of correlation.
State the merits and demerits of both the methods.
UgolHis] otgmﬂ Wil 20 nelld weRld 2id suis wldedl qadl s3b oted AL Rl wiA
Hyleloll qgl“{l ;

(B) Using the following data find out Karl Pearson’s coefficient of correlation and probable error and
interpret the result.
L2l sufeeldl Guaiol s34 514 MaindlL ugRioltis v Aol £ BEL dal YR sidaed 53,

X |35 140 |33 {32 |20 {40 |38 |30 |42 |45 |
Y |28 |65 |30 (45 |60 425 |32 (42 |29 |20
OR (%{24)

Q-2 (i) Explain the formula of probable error and describe the conditions to determine the correlation

between two variables using probable error.
AG[A £l U AUMAL 24 AGUA ElMAL Guaiol s ol Al 92341 usiol A58l 5391l wrdl adidl,

(ii) Narrate the types of correlation and dlstmgulsh between correlation and regression.
AgRioit AL UsIRI, C{l;l.fl 5 2l Aot v [Aad 2qoiy qad] 6le wup 53,
(iii) Using followmg data find out the Rank coefficient of correlation.
(Al Hlsdll Guaiol s3d s3is Aeioinis WL
Rank of — X 6 4 9 8 1 2 3 10 5 7
Rank of - Y 1 6 5 10 3 2 4 9 7 8

Q-3 (A) Define association of attributes. Explain the various methods to take decision about the association
between two attributes with appropriate illustration.
AulleHs Aol carvaLgd s of JEEul ARl ol 200 (Al ddl Wizl [Eldy yealduil o Gelery,
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(B} For 25 observations, following information was computed but later on it was discovered that two pairs
of X and Y were taken by mistake as (6,14) and (8,6) instead of (8, 12) and (6, 8). So, estimate the
correct regression equations,

25 2iadisl W2 Al qAA] agidl sremi 20l wdl uid uedlell el 2ued T X wA Y At &
sri3si @adll (8, 12) wid (6, 8) Il 6ied (6, 14) 11 (8, 6) A4S 8L wdl. dl 2] PAdzion w5l
HOLRL 521,
IX=125, XY=100, XX°=650, £Y> =460, XY =508
OR (841)
Q-3 (i) Narrate the causes responsible for regression error.  [A4dRioit A2 U2 sycliotel? S1R00U<], 4Bl 520,

(i) Write a note on consistency of data. WUl 2oretdl ur iy vl

(iii) Using the following data estimate regression equations and interpret them.
(21eA] il Guatiow s34 [Fndrioit welsauii-d 20014 1 veee-t 52,

% Y 20 -25 25 -30 30 — 35 Total
16 - 20 9 14 A 23
2024 6 11 3 20
24 -28 ) - 7 7
Total 15 25 10 50

Q-4 (A) Explain the characteristics, construction and usage of index.
Rswlsel drafBsdiotl, el i Guiifidl-dl ansy[d 200,

(B) A labourer in Anand city earns Rs. 3500 per month. The cost of Living Index for a particular month
is given as 136. Using the following data, find out the amounts he spent on house rent and clothing,

2UGIE Al vis Alis WRLs 3. 3500 s 8. st W W @ad [als vl viis 136 wuld §,
(L2l Sl Guatiow 304 d-f urelal 2ied 431 urd visl 9liHl,

Commodity AR, Expenditure w4 Group Index  sydl lis
Food Wil 1400 180

Clothing - SUL ; ? 150

House Rent UL ? 100

Fuel oA ' 560 110
Miscellaneous w44 630 80

Total 54l 3500

OR (¥ud)

Q-4 (i) Write a detailed note on time reversal and factor reversal tests.
AHA (I 2 e [quala ulael uR [Goid Ain g,

(ii) Calculate price index number of 2015 using the methods of Laspeyer, Paasche, Bowley, Marshall -
Edgeworth and Fisher from the following data.

AlalAl wileel wzell 201540 ad W2 @Ry, wd, cuGell, wdd - Segad wid Guzdl vwealduidl Guila

53l wasAisl apdl 5.

Commodity Sl 2010 | 2015
ormodiy - Price [$4d | Quantity o2l |Price (44 | Quantity oreal
Wheat u 50 10 40 40
Maize UHS 30 15 50 20
Rice 301 40 : 20 60 10
Bajara oll6¥RL 20 25 30 15
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